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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your

answer sheet.

21- Those ... shirts are very cheap. I will buy one of them as soon as I have some money.
1) small blue Russian 2) Russian blue small
3) small Russian blue 4) blue small Russian

22-Sadly, while Majid ... off the bus, he ... down and was badly injured.

1) is getting — fell 2) was getting — fell
3) was getting — was falling 4) got — was falling
23-To the best of my ..., there are only a couple of restaurants that serve good food in this town.
1) experiment 2) belief
3) research 4) knowledge

24-We try to ... an environment where everyone can feel comfortable, talk about their sadness and
happiness, and share their opinions with others.
1) develop 2) attend 3) quit 4) solve
25- His handwriting is surprisingly ... and you can easily read all the words in his letter.
1) ugly 2) neat 3) different 4) expensive
26- The family stood beside his ..., and talked about all the wonderful years they had spent together.

1) skill 2) element 3) grave 4) medicine

PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct

choice on your answer sheet.

Isaac Newton was born in a small village in England in 1643 and grew up on a farm. When he was
a boy, he made lots of inventions like a water clock. However, Isaac didn’t get good marks at
school. When he was 18, Isaac went to study at Cambridge University. He was very interested in
physics, mathematics and astronomy. But in 1665 the Great Plague, which was a terrible disease,
spread in England, and Cambridge University had to close down. Isaac returned home to the

farm. Isaac continued studying and experimenting at home.
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One day he was drinking a cup of tea in the garden. He saw an apple fall from a tree. “Why do
apples fall down instead of up?” From this, he formed the theory of gravity. Gravity is an invisible
force which pulls objects towards the Earth and keeps the planets moving around the Sun.

Isaac also built a special telescope, using mirrors. It was much more powerful than other
telescopes. Isaac made another very important discovery, which he called his “Three Laws of
Motion”. These laws explain how objects move. Isaac’s laws are still used today for sending
rockets into space. Isaac became rich and famous because of his inventions. Sir Isaac Newton died
in 1727 at the age of 85.

27- What is the best title for the passage?
1) Difficulties That Newton Had Faced
2) Newton’s Life, His Inventions and Discoveries
3) Gravity: The Most Important Discovery
4) The Effect of Cambridge University on Newton’s Views
28-The underlined word “this” in paragraph 2 refers to ... .
1) the fall of the apple 2) forming the theory
3) studying 4) tree
29- Which of the following is NOT true, according to the passage?
1) Newton’s discoveries made him rich and famous.
2) Besides physics, he had some information about stars and planets.
3) He invented both an advanced telescope and a mirror.
4) Newton got the idea of gravity from a falling apple.
30- There is enough information in the passage to answer which of the following questions?
1) How did Isaac Newton support himself financially while working on his theories?
2) When was Isaac’s single book which was about the laws of motion published?
3) Who helped Newton to invent a powerful telescope?

4) What is the effect of gravity on planets in the Solar System?
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PART C: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your

answer sheet.

31-1... football with my friends from 4 till 7 yesterday afternoon. That’s why I went to bed earlier.

1) were playing 2) have played
3) was played 4) was playing
32- It was such ... that we decided to go out for a walk. We took a long walk through the park.
1) day a lovely sunny 2) sunny lovely day
3) a day lovely sunny 4) a lovely sunny day

33-It is a true ... that success does not come overnight. Great men and women achieve great

successes only with big efforts.

1) power 2) patient 3) fact 4) novel
34-The president left the conference by the back door so as not to face the ... waiting in the main
hall.
1) cradles 2) cameras 3) stories 4) sciences

35-The AIDS virus spread very ... among African countries, and killed many people.
1) rapidly 2) appropriately
3) actually 4) carefully

PART D: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct

choice on your answer sheet.

Bell ...(36)... a precursor to the modern-day air conditioner and a device called a “photophone”
that enabled sound to be transmitted on a beam of ...(37)... and on which today’s fiber optic and
laser communication systems are based. In 1898, Alexander Graham Bell and his son-in-law
...(38)... over the National Geographic Society and built it into ...(39)... . It might be interesting
for you to know that Bell ...(40)... helped found Science Magazine, which is a famous research

journals in the world.

36- 1) crossed 2) laughed 3) invented 4) recited
37- 1) light 2) ticket 3) brain 4) planet
38- 1) take 2) took 3) was taking 4) that taken

39- 1) one of recognized magazines the most in the world
2) magazines in the world one of the most recognized
3) in the world one of the most recognized magazines
4) one of the most recognized magazines in the world
40- 1) myself 2) themselves 3) himself 4) itself
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